
���������	
�	�

���������	�

����
������



2



3

���������	�
��
��

���������	�
��
�� 
































































































 �

������������
� 





































































































 �

�
���������
 










































































































 �

�
������
��
��������
�� 




















































































 �

�������������� 


































































































 �

	���������
���
� 

































































































 �

 ���
��������
� 

































































































 !

	�
���������
���
� 



























































































 "#

	�$$�
������
� 































































































 "�

	�

�����
� 































































































 "�

%��$���&����������
���	�$�������
��������'%	�(��������)������� 


















 "�

*+"���������)������� 


















































































 "�

���
��
�
��






































































































 "�

 ������$��, 





































































































 "�

����
����� ��-�
�� 



























































































 "!

���+&�"#���)������
��.���$��, 
































































 "!

���+&��#���/�"##���)������
��.���$��, 



















































 +#

����&�+�#���)������
��.���$��, 






























































 +"

���+&��,���$�0���
��&���1� �����$ 
























































 ++

��##&�����������
�)
	
�&����2� �����,�&�
2�3�,��� 
































 +�

��##&�������� �$�
���
���4����
���"+5�6�"�5�&���� 

































 +�

��##&�������� �$�
���
���4����
���"*5�6�"*5�&���� 

































 +�

��##&�������� ������������)������
��.���$��, 









































 +�

��##&��������&�����,��
���������
 
































































 +�

��##&��������0���7���
��&���1����
��8�$������-�� 































 +*

��##&��������&�����,�	�������)���� 


























































 +!

�����������	
������
����
	��������������������������
����������



4

����� ����	
�� 

����
���

������ ���	
 ���
�� ��������

����� ���	
 ����
�� ��������

����	
 ����
��

���� ����	
 ����
�� ��������

����	
 �����
��

���������	��������������������������� ����!���	�����!��	�"	�!!���

# ��!$�		�

����	������% &���'��!��	 (�� (�	����
������)�!���!���	�����!��	
���� �

����	�����% ��	���!��	�)�!���!���	�����!��	����� �

*�+�������!�	�, ���'�-�!�	����"	�-��������'������!��)�!��
	 ���	�'!���	 (�����
'��!�
�'
�	���!

�	
.�
�.�����	�'!�
	��/��(��'�	�����"	�-

�����
�- ������
�-

�����
�- ����������
�-

������
�-��	
0
�0��

1����)���.����������������'(��������'(��.�/���!�(� �!��

2�" !% ����345�6��7.����8$
��
�����("�(���( (

9 !" !% ���3&5�:�����("��&5�(���( (

��/!�������(�!����

���;5�!����;5����;<�!�����;<�

=>?@�5��!�/�'�!��A1���B�4�
5*4�@������
CD�@������

>)��-����	�(�!���)�����!-��""	���


�����������
�

����	
�������

����
���

������ 	�
��



�����

��
����!����� ��

��������



�������
����
���

��"��

��"���	���

��#
�������

�$��	
��

%�������

%�
$&��������



5

�
���������

>�������+�'��(�� �	�)�		���	"�-� ���! ".�'�	�
��!�.�����(���!����-� �������
�������
��'���'�	���>���(�� �	������+�������!��!���/�		�)������'!����%

E 2�!��� '!���
E C�����!�������!������ �
E 5�	�
��!������� 
E &������!�'���� 
E 5��/�� ��!������� 
E F��!��!���� 
E 4���(
	-����)����

>���������/� ��(�� ��!�(��-� ��''����
-������/�!)��(�!�����

��������% @�����������	��!���������
�-���)��/���/�+����'�����

�������	% ��+���)�!'��*���.����)�����<�� ����.�!��!���9<<�"���!�����*)�!'�
*�������	�'�!������!���(�!����
�����
����!��!����'�	��"	�!/��(�
F�(�+��!����'�	��"	�!/��(�����!����''����'�+���!��!���(�!���

������2/�!��� ��!�������	��.�!������, �����
���
����!������	��2/�-� 

���
�!������	�-� �( �!���+��!����'�	����'��!�/����
�/����" !!���
�!�
�'
���!��	���	�/���!����� ���

��������
����������	
����
�

��!�������		�)��-� �!���''����!���(�� ��!�(��/��(�!���/���!�"���	��2/�-� 
��!�!���*?4D�"���(�!���!������-� �( �!� �����!������!���''����!��
(�� ��

�
������
��
��������
��



6

G��'��+���(�!����-� � ���!���''����!���(�� ��!������ 	!����!�����(��
����	�������"	�-���/���!.����)����-� ��������!���'�	�
��!����(�� ��>������!
(�� ��!�(����
���.�����!�/����������!�'���=��!�����
����.�����!�/���'��/�� �
��!�����>���	��!��!�(�����������.�/������!��!��<�� ��������)������"�����!�!���
�/�!���!�"�	�+�	��/�!���(�� �

�������	


��	���	�
����������

>����+���!����� ���!���(�� ��-� H
E "�����!��������
�-�!��(�+��!��!�������!
E "�����!���������
�-�!��(�+����)�����!���''�"!������"	�-���+����
	�
������! ���!��!���(�� ��!�(�	�+�	�

E "�����!�������������
�-�!��(�+�� "�����	�+�	����!���(�� ��!� '�
! ����I� �'������!����!���+�����''�"!���������"	�-���"���(�!����>���
	��+���!���"��+�� ��"���(�!�������//�'!�

>���/�		�)������'!�����'��!����!���(�� ��������/���!�����/�����'��(�� 
�!�(�

��	�)�����!���"����
	��������(��������-� �(�-��������!������"	�-�����!����
(�������

��'���� 5�	�
��!����?����

( �) 2/�!�����""��������!������"	�-�/���"��	������"��������!�������
��'����+��(�!�������!����'�	��"	�!!���

J*******K C""����������(��������+���)����!�'����!�������!����'�	��
F�(�+��)����!�

J*******K D�)����������(����������!�+��)����!�'����!�����5��'
�!��
�'�	��"	�!!���

��������������



7

<�� ��������)��!���'�	�
��!����(�� �

E @�����!��������
�-�!��(�+��!��!�������!
E @�����!���������
�-�!��(�+����)�����!���''�"!������"	�-���+����
	�
������! ���!��!���(�� ��!�(�	�+�	�

E @�����!�������������
�-�!��(�+�� "�����	�+�	����!���(�� ��!� '�
! ����I� �'������!����!���+�����''�"!���������"	�-���"���(�!����>���
	��+���!���"��+�� ��"���(�!�������//�'!�

�������

��	������
������

�� G�!������	����"	�-��.�"�����!��
������
�-����� �
��
����������������"	�-����>���

���!��� ��!��/�(��� ��(��!�/���!��
'�	�
��!����)����!��>���	��
�!)���
!�����'���'���
-� �����!�������

�-�

�� G�!��!���+�	 ��-� �)��!
���"	�-��.�"�����!���������
�-
!���''�"!��!����� >���' ����!�'�"�'�!-�/���!����'�	����

���"	�-����*'��		�!��� ����	!����!�
'���'���
-���"��!��	-�"��������!��
�����
�-�

�� G�!��!���+�	 ��-� �)��!
���"	�-��.�"�����!���������
�-
!���''�"!��!����� �
�
���������"	�-���

	���������
���
�


�������������������
�����
���������������������������������
�������������������������������
���������	
�������������������
�������������������������������
���������������������������
��������������	�



8

�� 5	����!����'�	��"	�!!�������"����
!���������
�-����� >������"	�-�)�		����)�	����
���/	-

���!����'�	����!��!���$����'�	�
��!���
"���!��>������"	�-�)�		�!�������)
�
�
����>��������!����"���'�	�
���
!����)����!�!��
��"	�'������!��
�'�	���<����		�
 !�!���	�)��!�'�"�'�!-
�'�	��!����������������!)���	!����!�
�"���)����!��-� �'���'�������*��
>�
	�����������
�	�)�

�� *'��		�!��� ���!����	!��������"��
)����!��)�!��!��������
�-���*��
!�����!���!�	�/!���G�!��)����!�-� 
)��!����"	�-��.�"	�'��!��!�)����!
���!����'�	������"�����!��
������
�-����� 	����������"	�-���
���/	-����!��

�'�	����!��!�����)�'�	�
��!����"���!�


���������"	�-���
���/	-�!���
����	�

>����'�	�������)�'�	�
��!����F�! ���!�����(�	��"���!����
-���! �������)�!'�
*����!��!���9=�"���!�������"��������!�������������
�-��>��'��!����!�
�������!�'�����'��/�� ��!���.�����!��!���'!�������!���/�		�)����"�����

���������������������������������
������������������������������
( �)����������������������
��������������������������
�����������������������������
������������������

��������������� ���!�"
#�������
���������$������������������������
���������������������������
���#����%�������������  &���
����������������������������

�������������������������" ���
�������������������'���������������
�������������������������
� $   �������������������������
������������������������������#
�	$"  �����������

(�����������������������������
������������������$�����������
������������������)����������
������������������#������
�������������������������������
����    ��



9

<�� ��������)��!����������!�'�(�� ��<�		�)����!��!�����!�����"	���!�����/��
!���(�� �

����
��������
�

>����!���!����������!�'�(�� .�/�		�)�!������!�"�%

�� <��(�!��� ����	� ���"	�-.�"����
!��� ����� 
�-����� 
���� ������"	�-���

9F

 �����!��������������)����
"���������/�!����(�� �	������ >������"	�-�)�		����)� ����	 ��@����

!��� ����� 
�-����� 
���� �������
"	�-���

�� G�!�� 
���� ���"	�-��.�"�����!��
������ 
�-�!������!���/���!
�������!�'�(�� ��!�(����� 	������� ������"	�-���

��!!��-����!���/���!��/�!����������!�'�!��!���@�����!��� �����



10

	������ +��������������5������!����!�����"	�-�!���' ����!�
�!!��-�+�	!����
��!!��-�+�	!����)�		� � �		-������/��(����!�����+�	!���>���D����!
��� �'��!���)�		����)� "�)����+�	!�������"��!�������+�	!���>��
�'�	��)�		��� !��//�)����+�	!����������+�	!���G��	����'�������.�!���
���"	�-�)�		����)���������+�	!�������/�45�"�)�����!������"	�-�)�		
���)��""����(�!�	-������+�	!���*�����!���!�	�/!�

������� ��������
������������������5������!����!�����"	�-�!�����)
����!�	�'� �!��/��(�!���'�("��������'�-�!�	����!���# ��!$�		���4
!-"�'�	�'� �!�)�!�����	�������!����'�	������""����(�!�	-�����
(�		�����>����� (
������ 	����'���������)����!�����""	����!��!��
�'�	���@�����!��������
�-�!������!���!��!�

������� ����
������������������5������!����!�����"	�-�!�����)�����!�	
'� �!��/��(�!���!�������'�-�!�	����!���# ��!$�		���4�!-"�'�	�'� �!
)�!�����	�������!����'�	������""����(�!�	-������(�		�����>���
� (
������ 	����'���������)����!�����""	����!��!����'�	���@����
!��������
�-�!������!���!��!�

�
��� �� ����������5������!����!�����"	�-�!�����).�����!�	�'� �!��/��(
!���# ��!$�		����>�����)�'� �!���� 	��
���""����(�!�	-�1�.�����2/
!�����������'�("��������'�-�!�	�'� �!������"�����!������!�
	�.
!���#&>�'�		����/ �'!�������"��"��	-�

������ ���
����������5������!����!��"��/��(��������	�	��"
�'
�!��!��I� 
( �!�'����'!�!���!����(�!�������'��+��	�����!���!����/���!����!��!
!��)��
��&��"	�-�)�		����)�"�������/��	�


������ 

�����������*�����	�� (
���������/!)����+������.�"��!�� (
��
������+������	�+�	��������"	�-���/�		�)���
-������(��!�!��!�
&��"	�-���! ����!��
�������� !�(�!�'�		-�)���������

������� ,
$&������ �
��������"
�&�����*�< 		��'�	��� !" !�������(�	�$��
!���%�.���.����'� �!�����	 !���.�)�!��4 !��L����>��'
�������
	���
@�����!���������
�-�!�����'��!�� ��!���!��!�

������� 

#
�
��������"
�&� ������*�< 		��'�	��� !" !�������(�	�$���!�
�%�.���.����'� �!�����	 !���.�)�!��4 !��L����>��'
��������
	���
@�����!���������
�-�!�����'��!�� ��!���!��!�

@�����!�������������
�-�!��(�+��� !��/�!����������!�'��!��!��!��!���
���
���"	�-�

>����!���!���'��/�� ��!����(�� ����)�����<�� ����.�/�		�)�!������!�"�%

�� G�!��
�������"	�-���"�����!��
�����
�-����� �
�����������"	�-���

��

 �����!��������������)����
"���������/�!����(�� �	������ >������"	�-�)�		����)�����	��@����

!��������
�-�!)�'�������
�������
���"	�-���

�� G�!���
��������"	�-��.�"�����!��
������
�-����� ���
�������"	�-���

	�
���������
���
�

*�������������������������$
��������������������
�����
��������������
������������

�������������������������
��������������
��#������#����
���������������	�����������
���������#���*����������
��#��
�������$�������������������������
�������	+��������,�����#�
����������������������-�������



11

��������
�
���������
������

����-

*����	�&�!��G����D���!�% ���
�!�
��*!��!.�B�&�!�.���@���!-.���*!�"

@���!-% ?+��.�9������=���



12

F���	 !�������!���/���!��/�!���'��/�� ��!����(�� ��!�(���@�����!��������
�-
!���'��		�!��� ���!���'�("	�!��	��!��/�'��/�� ��!����(�� ��!�(���G����!��
�!�(�-� �)��!�������"	�-��.�"�����!���������
�-��*'��		�!��� �����'���!�(�
'���'�������)�!��!���+�	 �����'���'��-� �)��!����"	�-��.�"�����!��������

�-�

4		�!����!�(���������'��
���
�	�)����!���������!��-��""�������!���(�� ��*��
<�� �����

���
 ����� �
�����5������!���)����!����"	�-�����	 !�����>���'���'��
��������/��(��.�����!������.������&�/� 	!������.����

������� �������$����5������>���4 �(�!�'�L����>��'
����F������4L>��
5���'������%�9<<.�����.���.���.���.���������2/���)����!����!��
�'�	�����)�!����!�����+������������-� �'��������
�+�����
�	�)
$����.�!����'�	��)�		�� !�(�!�'�		-�$����!��!�)����!��&�/� 	!�������

������� .����$����*�!�!����		�)�
	��$�����������/�!��������
�-M����7
�/�'�"�'�!-�����7��&�/� 	!��������"��'��!�

������� .���������5������
�!)������+����!����'�	��"�)��� "��!�$������
"�)��� "�)�!��!���)����!����!����'�	�����"	�-����5����������!�
"�)��� "��!�$����)����!��5���������!��"�)��� "����)����!��
)����!����!����'�	���&�/� 	!��������

���	�� ���(�����*�!�!����!�
�	�!-�)����)�/���!����'�	���2/�!���(�!����/�		�
)�!����!���)����)���$��-� ���!.�!����'�	��'���������!���)����!�!�

���!�
	���5���'������%�9<<.�����.����.���.���.���������&�/� 	!���
���


������ �#�������	
�����*�!�!���"���!��!�)��'��!����+���'�"�'�!-�������
�""�������!����'������5���'��������!����7��/�'�"�'�!-����1�
�+���'�"�'�!-��&�/� 	!�������7�

������ /
�����*�5������
�!)����������/��!�������
�������(�	��/�	!�����
 �����!����(�� ��!�(��C���/��!�/�	!���������(��!��""	�'�!������C��
���(�	�/�	!����������������+�
��!������+����(��!�����!��(���(�$�
)����!����"	�-�'��������&�/� 	!�������(�	�

��
��� ���������@�'
������"	�-� "��!����!���5���'������%��8$.��8$.��8$.
�8$.�������8$��&�/� 	!������8$�

������ ���
�����*�!�!��������	���/��(�!����/���-� ��"���"����	���+�'���
2!�(�����!����(�� ����%


������� 5������!���!-"���/���+�'��-� ���'�	�����'����'!���!��
5���'������%�=���.�@���!��.�5�(" !�������������
'��!��&�/� 	!����=����

	��
�� 5������!���
� ����!��/��������	�'�(( ��'�!�����>��
'���'�����������.�����.�����.�1���������1.����
&�/� 	!���!�����1����


���	���� 5������/��(�B��������!��
�!���>�����/� 	!������

�������� 5������!���"���!-�/��������	�'�(( ��'�!�����>��
'���'�����������.��+��.����������&�/� 	!���������

��#������ 5������!���� (
����/�	����/������/!���!���/��(�!!��
!����(��������>�����/� 	!������

��
�
�� 5������!���"��!�'�	�/��������	�'�(( ��'�!�����>��
'���'�������������������(�	�
�����'!����	���(" !��
��!��/�'��*!��������������� �



13

/������� 5������/��(�����"����!������	�/��(�!���*���>�
	���

�	�)��&�/� 	!����A��

/������. =�!�)����!���	-%

%%%%0%%1��21'/2

/������3 =�!�)����!�)�!�� ��!�%

%%%%0%%1��2��1��21'/2

/������4 N>=�)�!�� ��!�%

5�51��2����0��1��2��1��21'/2

5�51��2����0��1��2��1��21'/2

5�51��2%%%%0%%1��2��1��21'/2

/������6 &��"	�-���)����!�)�!������!�/���%

�1��2%%%%0%%1��21'/2

/������7 &��"	�-���)����!�)�!������!�/�������� ��!�%

�1��2%%%%0%%1��2��1��21'/2

/������8 <�����	���!������������!������"	�-���)����!�)�!�� ��!��

�99999099�  1��2����O�"���!�+������"�'����������!�+�����
)����!�

4

��+��!����%
5F�O�'����������! ��
D<�O�	����/���
*@�O��"�'�
C�O� ��!��'����'!��
G�O�)����!�'����'!��
>�O�!����'����'!��
N�O�������)����!�'����'!��
2�O�)����!�!-"������!�/�����N�/��������.�>�/���!��������=�/�����!�


�����

��������������
�����



14

������ >�����!�����/���4 !�"���!��5���������!������
	�
� !�"���!�����-���!�����
	��� !�"���!��2/����
	���!��
)����!�)�		�� !�(�!�'�		-�
��"���!����/!���!���)����!
�!�
�	�$����
�+��$����
-�!�����+����������(����
4 !�"���!�)�		������(��/!���!���)����!�������! �����!�
)�!���������+��������/���!�$�����&�/� 	!����=9�

������ @�����!���������
�-�!����! ���!��!�������������"	�-�

�
�� �������5������!����(� �!��/���	��!�(��!����'�	��)�		���(���
"�)�����)�����"���!���� �����
�!!��-�"�)����5���'������%�9<<.
�.���.���.���.���.��������(�� !����&�/� 	!����9<<�

5������9<<��/�-� ������!�)��!�!����'�	��!��� !�(�!�'�		-��� !
�//��>����'�	��)�		����)�!���)����!����!���"	�!/��(��/�9//���
'�����������( (�
�!!��-�	�/��)�!��'��!�� � ��
�'
	���!� �������
�""����(�!�	-������ ��������/ 		�'�������G�!�� !�
�'
	���!
���
	��.�
�!!��-�	�/������""����(�!�	-������ ���

���� �������5�����

	�!��"� +�	:�
$&����5������I���!��! ���!���
�'
	���!����!������"	�-����
5������=��/����//��I������!�����/� 	!���!!����


�����" 
�!� �����5������!����! ���!����'�	��!���		���/� 	!���!!������=9���
!�����/� 	!��

����" '
���/
�������5���'��%�7.����*�!��/�	!�������/�!���# ��!$�		�)����!
��������4���!!�����/������(�����'' ��!��
 !��	�)�����"����
'�("�����!������!!�����/���

*�!��)�!'��*G����
�'
�!��!���9=�"���!����!����! ���!�����(�	�)�������
(����

�������������������������
��������������
��#������#����
���������������	�����������
���������#���*����������
��#��
�������$�������������������������
�������	+��������,�����#�
����������������������-�������



15

>���������������� ������&?�1�'����'!���/���?24�*!�������F*����������	
'�(( ��'�!����

@��� !�/���!���&?�1�'����'!����������/�		�)�%

��������	
�
��	
�

�
� ���� 

��	�
��

� =5 �

� >����(�! 9C>

� F�'��+� 2=

� =5 �

� N�� �� �

� =5 �

B =5 �

� =5 �

1 =5 �

P�-�!���-(
�	�� ���%

Q?>RS ?����/�!��!�'����'!������������������'�
QD<S D����<����'����'!�����4������������'�
Q5FS 5��������F�! ���'����'!�����&������������'�
Q*@S *"�'�����������������'�
� 5����'!���/��(����"	�-���'	 �����(�� ������
������� >)�����(�����!�! ��
-!��
  C��!���/�(��� ���� �����4=*2��!��������

��+��!�����

��������
��

��� �
������������ ���	���

����� ��������	��

���� ���

����������������������
������			��������� 
�������
������������
�

�
 �

�������������� 
��

��������������������� 

������			��������� !����
��������"�#�����������
�

$���� ������			��������� ���

�������������
�

%���� ������			��������� ���������	�
���
�
���
���������������

&���� ��������	���

���� ���

�����������������'(������
������			��������� ����������
�

�
 �

�������������� ���

��������������������� �!����


������			��������� �������"�#�����������
�

�������� ����)��������� *�
������+����������

	����
������


�����������

��������������������
������������������
������ ������!�������



16

>����'�((����'� ����!����'�	��!����! �����GI*2GIN��G��!�I� �*���2�
G��!�I� �N�!���/��!�����"	�-�)�����!����������(�	�)��������(�����>��!���.�!��
�'�	��)�		������)��!�+���������)��������!�����"	�-���'	 �������-�(�� ������
���0�����'�(�	�"���!��2/��!����)����!.�!��� ��!���/�(��� ���)�		�
����! �������
����!����!��!������"	�-���)����!��<�����'�(�	�)����!.�!���	���!���/�!���)����!
/��	��)�		�
���, �	�!��!���	���!���/�!����'�	�T�����"	�-�"	 ��!)�����!���������
/���!�����'�(�	�"���!��/���'�����-.�����!)��/���!��� ��!�.�����.�J	
K���C��!���/
(��� ���)�		��""�������!�����4=*2��!��������

��+��!���/��(��J	
K�/��
"� ���.�J
�K�/���
�	����(�.��!'���2/�!����'�	��������"	�-�����		� ""���
������+��
'�"�'�!-�.�!���)����!�/��	��)�		�
��/�		���)�!��'���!���JUUUUUUU���2/�!����'�	����
���"	�-�����		�	�)���
����� �����'�"�'�!-�.�!���)����!�/��	��)�		�
��/�		���)�!�
 �����'������JVVVVVVVK���2/�!����'�	��������"	�-����(���	��
�����$������
������.�!���)����!�/��	��)�		�
��/�		���)�!����������J���������K��

>���������!)���!�! ��
-!����>����!�! ��
�!��������/��������/�		�)�%

+
� /
�������� ��+��� ��	�������� ��+���

� �O*'�	�����(�!��� �OC�����'�"�'�!-
�O*!�
	� �O=�!� �����'�"�'�!-

� �O*'�	���!�$��� �O9+���'�"�'�!-
�O=�!��!�$��� �O=�!��+���'�"�'�!-

� �OF4������� �OF9�������
�O=��F4������� �O=��F9�������

� �O??@F9������� �O<� 	!-�'�	�
��!������!�
�O=��??@F9������� �O5�	�
��!������!���
�-

� 4	)�-��� 4	)�-���
� 4	)�-�� 4	)�-���

� 4	)�-��� 4	)�-���

B @���!- @���!-

2/�$�������'��!���������(�!.�!����'�	�����$�������2����-�'���.��'�	���!�! ����
��! �����

2!����!�����(�����!���G�'�((������'�"!�!��!�)����)����!������! ����.��!���
��! �����)�!��!���!�(���!����'�	�T�����"	�-�������	 !�����>� �.�/�����'�(�	
)����!.�!���	���!���/�!���)����!�/��	������, �	�!��!���	���!���/�!����'�	�T�
���"	�-�"	 ��!��������/� ��

G����!����'�	����'��+������ ���'����$������ �� ""��!���'�((���.��!
��! ������, ��!����(��
�

���������

���������

�
��������	�
��

���������

 ������

������ ��

!���������	����
��

������!��

"���#�������

����



17

���
��
�
��

��������
��

��� �
������������ ���	���

* ./�01 00�00.),1 
��������/����������$�	
./�01 00�00.),1 2�������/����������$�	
./�01 00�00.),1 3��������/����������$�	
./�01  0000.),1 3��������/���������	$�4

./�0156/�(�'/7.),1 ���/��������+

8 ./�01 00�00.),1 
��������/����������$�	
./�01 00�00.),1 2�������/����������$�	
./�01 00�00.),1 3��������/����������$�	
./�01  0000.),1 3��������/���������	$�4

./�0156/�(�'/7.),1 ���/��������+

9 ./�0156/�(�'/7.),1 9����������

( ./�015.),1 /���������

: ./�016)3;<�=>;)>7.),1 )���������

> ./�01>.),1 >������

< ./�01<.),1 >�������

(�������� ./�0156/�(�'/7.),1 :����������

=�!��%

�� >�����'�(�	�"���!�"���!����(�-�
����//����!���"������������	�'!��
'�"�'�!-�������+������

�� 4�/�����	�������$�������������!��
�����'����'!���'� �!�!��!�����(����
'�"�'�!����)�!������'�(�	�"���!�

�� >����� ""��!��!������������'�"�'�!-�)��'���������!���, ����!�����'�(�	
"���!�

�� 4��!�! ��
-!��������!��/�!����'�	��������(�!���.� �����$���.�����+���'�"�'�
�!-�

G�"����)����!������� �/�'���)�!�������"�����)�!�����("�����'	�!��

F�/���!��!�����"	��������)��������"��������!��� ����B�)��	����+��)���
!������������(
	-��!�"��

�� F�(�+��!���"	�!!����������� ��

�� F�(�+��!���!)��/	�!������'��)����	�����!���	���
������!��!���# ��!$�		�

�� F�(�+��!���/� �����	�����'��)����	�����!���
����'�+���!��!���
����
��������&���	���������
!��(��� �������	������0

�����������

6;64+�8.�(�<�3..�(�����	
�
��

"	�
�!�������



18

6;67+�48.�(�����	
��

�� >����(�+��!���# ��!$�		.���(�+��!���!)��'�"�'��)��	�'�!������!��

�!!�(��/�!����'�	����	�����!���# ��!$�		�!��!���
����

�� >����(�+��!���"'�
����.����'����'!���-�'����'!���)�����������(�+�
!����'��)����	������!�!��!���
����

�� >����(�+��!������"	�-.�" ���!�����	�����
 !!������!���
�!!�(��/�!��
���"	�-������	�����!��//�!���(� �!����"	�!��

G����-� �������(
	��!��� ��!�
��� ���!��"	�'��!����	 (�� (��"�'������!��
# ��!$�		�
�/�����!!�'�����!���	���
������

�� F�(�+��!������� ��

�� F�(�+��!�����' ��!-��''����"	�!�����������&���	���������
!��(��� ����
��	������0

�� F�(�+��!���!)��'�"�'��)����	�����!���	���
������!��!���# ��!$�		�

�� >����(�+��!���# ��!$�		.���(�+��!���!)��'�"�'��)��	�'�!������!��

�!!�(��/�!����'�	����	�����!���# ��!$�		�!��!���
����

�� >����(�+��!���(������!��'����'!�"'�
����.����'����'!���-�'����'!��
)�����������(�+��!����'��)����	������!�!��!���
����

�� >����(�+��!������"	�-.�" ���!�����	�����
 !!������!���
�!!�(��/�!��
���"	�-������	�����!��//�!���(� �!����"	�!��

<���������(
	-.���+�����!����������(
	-�"��'�� ���

�� F�(�+��!������� ��

�� F�(�+��!���!)��'�"��'��)����	�����!���� ��
������!��!���# ��!$�		�

�� >����(�+��!���# ��!$�		.���(�+��!���!)��'�"�'��)��	�'�!������!��

�!!�(��/�!����'�	����	�����!���# ��!$�		�!��!���
����

�� >����(�+��!���(������!��'����'!�"'�
����.���(�+��!����'��)����	����
!����	�'!����'����'	�� ���!��!���� ��
������
���.����'����'!��		�)����
������(�+��!�����'	�� ����F�(�+��!����'��)����	�����!���(���
��!��'����'!�"'�
�����!��!���
����

�� >����(�+��!������"	�-.�" ���!�����	�����
 !!������!���
�!!�(��/�!��
���"	�-������	�����!��//�!���(� �!����"	�!��

<���������(
	-.���+�����!����������(
	-�"��'�� �������� ���!����"	�'��!��
�"�'����
�!)����!���# ��!$�		�����!���� ��
������
��������!�"�

6;64+�3.�(�����	
��



3632B QDT BENCH SCALE
10 lb / 5kg cap. , 12” x 14” BASE
PARTS AND ASSEMBLY

19

ITEM
NO. DESCRIPTION W-T P/N QTY

1 Remote Display Cable Assy 1140-11832 1

2 Shroud (10 lb.) 1076-16136 1

3 Quartzell Assy 7153-15694-05 1

Quartzell EPROM (not shown) 51565-0018 1

4 Screw, #10-32 x .25"L 1006-09173 2

5 Vinyl Cap 1051-13968 3

6 I/O Connector Mtg Bracket 1067-15693 1

7 PVC Wire Duct 1074-15171-04 1

8 Display Mtg Plate w/ Level Bubble 1069-15328 1

9 Jam Nut, 1/4-20 1022-00231 4

10 Screw, Flat Head, Hex Soc, 1/4-20 X 1.00"L 1018-11594 2

11 Main Interconnect Pc Board 49995-0012 1

12 Pwr Supply, 120vac/14vdc, 0.7 amp

Pwr Supply, 230vac/14vdc, 0.7 amp

1148-16069

1148-16070

1

1

13 Pwr Supply Mtg Bracket 1067-15647 1

14 Platter 1076-14702 1

15 Screw, #6 x .38"L 1009-05758 6

16 Aluminum Spacer 1043-13977 1

17 Foot Assy 7075-16213 4

18 Capscrew, 1/4 x .1.00"L 1007-15463 2

19 Standoff,m/f  #6 x 1/4 HEX x .50"L 1044-00136 3

20 Standoff,m/f  #4 x 3/16 HEX x .19"L 1044-01085 2

21 Cable Clamp 1074-00392 1

22 Level Bubble 1083-00095 1

23 Bubble Mtg Flange 1083-11797 1

24 Flat Washer, 1/4" 1029-00099 2

25 Acorn Nut, #10 1028-16157 4

26 Base 7069-15914-02 1

27 Tooth Washer, #6 1031-00128 3

28 Slotted Stud, 1/4-20 x 2.00"L 1015-14427 4

29 Shroud Spacer 1043-14426 4

31 Rivet, 3/32 dia x .19"L 1041-00102 3

33 Loadbridge 1066-13958 1

34 Screw, Locking Hex Socket, 1011-04367 1

35 Cable Assy (Quartzell-to-main) 7140-14118 1

36 Screw,#6-32 x .25"L 1009-10039 2

37 Screw,#6-32 x .38"L 1006-02605 4

38 Display Enclosure, Top 106911065 1

39 Display Enclosure, Bottom 106911066 1

40 Keypad 1163-15854 1

41 Display Pc Board Assy 7405-15834-02 1

42 12V Battery Kit, (battery,cable,bracket,screws) 50236-0019 1

43 Remote Display (complete assy) 7516-15956 1
36XXBSV



3632B QDT BENCH SCALE
50lb / 25kg , 100lb / 50kg cap. , 12” x 14” BASE
PARTS AND ASSEMBLY

20

ITEM
NO. DESCRIPTION W-T P/N QTY

1 Remote Display Cable Assy 1140-11832 1

2 Shroud 1076-15767 1

3 Quartzell Assy (50lb / 25kg cap.) 7153-15694-32 1

Quartzell Assy (100lb / 50kg cap.) 7153-15694-50 1

Quartzell EPROM (not shown) 51565-0018

4 Screw, #10-32 x 3/8"L 1006-02039 2

6 I/O Connector Mtg Bracket 1067-15693 1

7 PVC Wire Duct 1074-15171-04 1

8 Display Mtg Plate 1069-14869 1

9 Loadbridge 1066-15933 1

10 Capscrew, Hex, 1/4-20 X 1.00"L 1007-02617 2

11 Main Interconnect Pc Board 49995-0012 1

12 Pwr Supply, 120vac/14vdc, 0.7 amp

Pwr Supply, 230vac/14vdc, 0.7 amp

1148-16069

1148-16070

1

1

13 Pwr Supply Mtg Bracket 1067-15693 1

14 Sealing Cover Label 1070-60103 1

15 Screw, #6 X .38"L 1009-05758 6

17 Foot Assy 7075-16213 4

18 Capscrew, 1/4 x .1.00"L 1007-15463 2

19 Ground Spring 1068-07674 2

20 Standoff,m/f  #4 x 3/16HEX x .19"L 1044-01085 2

21 Cable Clamp 1074-00392 1

22 Level Bubble 1083-00095 1

23 Adhesive Tape (for bubble) 1045-13049 1

24 Flat Washer, 1/4" 1029-00099 4

25 Access / Security Cover 1069-15766 1

26 Base 7069-15278 1

27 Tooth Washer, #6 1031-00128 3

28 Shipping Block 1084-15131 1

29 Load Stop Pin  (50lb / 25kg) 1090-16074-32 4

Load Stop Pin  (100lb / 50kg) 1090-16074-50 4

33 Ball Top Shroud (optional) 7076-15118 1

34 Screw, Locking Hex Socket, 1011-15213 1

35 Cable Assy (Quartzell-to-main) 7140-14118 1

36 Screw,#6-32 x .25"L 1009-10039 2

37 Screw,#6-32 x .38"L 1006-02605 4

38 Display Enclosure, Top 106911065 1

39 Display Enclosure, Bottom 106911066 1

40 Keypad 1163-15854 1

41 Display Pc Board Assy 7405-15834-02 1

42 12V Battery Kit, (battery,cable,bracket,screws) 50236-0019 1

43 Remote Display (complete assy) 7516-15956 1



3634B QDT BENCH SCALE
250 lb cap. , 18” x 18” BASE
PARTS AND ASSEMBLY

21

ITEM
NO. DESCRIPTION W-T P/N QTY

1 Shroud 1076-15050 1

2 Durabridge 7066-15056 1

3 Durabridge Base 7071-16164 1

4 Front Housing 1069-11066 1

5 Spacer 1043-15054 2

6 Electronics Enclosure 7069-15872-02 1

7 Main Interconnect Pc Board 49995-0012 1

8 Carriage Bolt, 3/8" x 3.50"L 1019-15195 4

9 Jam Nut, 3/8" 1022-00241 4

10 Cap Screw, 3/8" x 1.00"L (GR8) 1007-02308 4

11 Flat Washer, 3/8" 1029-00093 12

12 Level Bubble 1083-00095 1

13 Adhesive Tape (for bubble) 1045-13049 1

14 12V Battery Kit, (battery,cable,bracket,screws) 52297-0011 1

15 Lock ButtonSpacer 1043-00748 2

16 Rear Housing 1069-15841 1

17 Foot Assy w/ Jam Nut 7075-13082 4

18 Sealing Screw, #6 x .50"L 1001-02162 1

19 Standoff,m/f  #4 x 3/16HEX x .19"L 1044-01085 2

20 Screw, #10 x .50"L 1001-02729 6

21 Screw, #6 x .25"L 1006-02600 1

22 Screw,#6-32 x .38"L 1009-05758 5

23 Standoff,m/f  #6 x 1/4 HEX x .88"L 1044-04791 1

24 Display Mtg Plate 1069-14869 1

25 Remote Display Cable Assy 1140-11832 1

28 PVC Wire Duct 1074-15171-04 1

29 Cable Assy (Quartzell-to-main) 7140-14118 1

30 Set Screw, 1/4 x .38"L 1011-04367 2

31 Spacer 1043-12751 4

32 Quartzell Assy (250 lb) 7153-15694-165 1

EPROM (not shown) 51565-0018

33 Pwr Supply, 120vac/14vdc, 0.7 amp

Pwr Supply, 230vac/14vdc, 0.7 amp

1148-16069

1148-16070

1

1

Pwr Supply, 120vac/15vdc, 0.7 amp (old version) 1148-15536 1

34 Transformer Mtg Bracket 1067-16494 1

Transformer Mtg Bracket (old version) 1067-15859 1

35 Ball Top Shroud (optional) 1076-15066 1

36 Ball Retainer 1069-15068 1

37 Transfer Ball 1049-15072 13

38 Screw, #10-32 x .50"L 1006-03193 4

39 Remote Display , complete assy     (see “50/100lb
QDT” assy page for parts break down)

7516-15956 1



3632B QDT BENCH SCALE
SYSTEM WIRING BLOCK DIAGRAM

22



3600B SERIES QDT BENCH SCALE
MAIN  P.C. BOARD / DISPLAY BD. / KEYPAD OVERLAY

23



3600B SERIES QDT BENCH SCALE
SCALES AND BASES
DIMENSIONAL OUTLINE FOR 12” x 14” BASES

24



3600B SERIES QDT BENCH SCALE
SCALES AND BASES
DIMENSIONAL OUTLINE FOR 18” x 18” BASES

25



3600B SERIES QDT BENCH SCALE
DRAFT SHIELD (optional) (10 lb. / 5kg., 12” x 14” BASE VERSION ONLY
PARTS AND ASSEMBLY

26

ITEM
NO. DESCRIPTION W-T P/N QTY QTY

1 SUPPORT POST 1058-15413 2 2

2 SHIELD DOOR 1069-15404 1 1

3 SHIELD TOP PANEL 1069-15403 1 1

4 SHIELD REAR PANEL 1069-15406 1 1

5 SHIELD SIDE PANEL 1069-14604 2 2

6 SUPPORT POST w/SIDE HOLE 1058-14424 2 2

7 THREADED SPRING / PLUNGER 1068-14610 2 2

8 KNOB 1091-14144 1 1

9 HEX NUT, #10-32 14506-0059 1 1

10 SCREW, #6-32 x .31” LG 1001-13790 2 2

11 STANDOFF, #6-32 x .31” LG 1044-00121 2 2

12 VINYL CAP 1051-13968 2 2

13 SCREW, .25”-20 x .50” LG 1007-00538 4 8



3600B SERIES QDT BENCH SCALE
BATTERY INSTALLATION
(Battery Kit P/N 50236-0019)

27



3600B SERIES QDT BENCH SCALE
WALL-MOUNT BRACKET AND REMOTE TOWER (optional)
PARTS AND ASSEMBLY

28

ITEM
NO. DESCRIPTION W-T P/N QTY

1 Tower Support Channel
Tower Support Channel

49658-0010
49658-0028

1
1

2 Screw,#6 x 3/8” L 14473-0249 2
3 Grommet 15347-0018 1
4 Tower Channel (9”) 49659-0019 1

Tower Channel (18”) 49659-0027 1
5 Screw,#10 x ½” L 14473-0496 2
6 Tower Base 50085-0011 1
7 Wall-Mount Display Bracket 49599-0012 1



3600B SERIES QDT BENCH SCALE
BATTERY CHARGER (optional)
PARTS LIST

29

ITEM
NO. DESCRIPTION W-T P/N QTY

1 Battery Charger PC BD Assy 50093-0011 1
2 Base Plate Assy 45911-0045 1
3 Grommet 15347-0018 1
4 Standoff, M/Fem, #6 x 7/8” L 15437-0472 1
5 Screw,#6 x 3/8” L 14473-0249 1
6 Lock Washer, #6 14474-0032 1
7 Screw,#4 x 1/4” L 14473-0108 3
8 Lock Washer, 14474-0024 3



��������	
��
�����������	
����

�����	
���������������
������	
������ !�" ##��
��$����������� !�" #�%�
� ������ �
&'������()���� ��	
�*
$	�
)))
)�*)�+
$	�

��������	
��� 
�
����� ��

!��� ,�'
�)�$-� ,�.&

/	�
���0�������10�2%3�#3��0�
�&�
������	
�����# �%� ��"�
��$����������# �%� �"!�

4�����
��/�	&'$���5��6���������������	
�	�	���
�����
	���
�����	��	��
�������
�	����

03/21/01  3600_S.P65  PN 29706-0014e3  Printed in USA


